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1. Statement: "You are hereby appointed as a programmer with a probation period of one year and your
performance will be reviewed at the end of the period for confirmation.” - A line in an appointment
letter

Assumptions:

| . The performance of an individual generally is not known at the time of appointment offer.
Il Generally an individual tries to prove his worth in the probation period.

Only assumption I is implicit
Only assumption Il is implicit
Either 1 or 1l is implicit
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Both I and Il are implicit

2. Aright triangle with sides 3 cm, 4 cm and 5 cm is rotated the side of 3 cm to form a cone. The

volume of the cone so formed is:

A. 12T ¢m?
B. 15T cm?
C. 16T cm?
D. 20M cm?

3. August 19 is celebrated as

A. World Breastfeeding Week
B. International Forgiveness Day
C. World Photography Day

D. Montreal World Film Festival

4. Any numerical value calculated from sample data is called
Error
Statistic

Bias
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Mean



5. Cumulative Frequency is frequency

A. Increasing
B. Decreasing
C. Fixed

D. None of These

6. Which of the following is not a correct statement about a probability.
A. It must have value between 0 and 1
B. It can be reported as a decimal or a fraction
C. A value near 0 means that event is not likely to occur / happens.
D

. It is the collection of several

7. Permanent Secretariat to coordinate the implementation of SAARC programme is located at

Dhaka
New Delhi

Colombo
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Kathmandu

8. Ifa=0.1039, then the value of 42 - 4a + 1 + 3a is:
A. 0.1039
B. 0.2078
C. 1.1039
D. 2.1039

9. Ten new television shows appeared during the month of September. Five of the shows were sitcoms,
three were hour-long dramas, and two were news-magazine shows. By January, only seven of these
new shows were still on the air. Five of the shows that remained were sitcoms.

A. Only one of the news-magazine shows remained on the air.
B. Only one of the hour-long dramas remained on the air.
C. At least one of the shows that was cancelled was an hour-long drama.

D. Television viewers prefer sitcoms over hour-long dramas.

10. Two students appeared at an examination. One of them secured 9 marks more than the other and his

marks was 56% of the sum of their marks. The marks obtained by them are:45 %
A. 39,30
B. 41,32
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C. 42,33
D. 43,34

Nuclear sizes are expressed in a unit named
A. Fermi
B. Angstrom
C. Newton
D. Tesla
. Which of the following is a non metal that remains liquid at room temperature?
A. Phosphorous
B. Bromine
C. Chlorine
D. Helium
. When a computer is booting, BIOS is loaded to the memory by
A. RAM
B. ROM
C. CD-ROM
D. TCP
‘Lahar” is the natural Disaster involving
A. Eruption of large amount of material
B. Strong winds
C. Strong water waves
D. Strong water and winds waves

. Who among the following is the defacto executive head of Planning Commission?
A.Chairman
B. Deputy Chairman
C. Minister of State Planning
D.Member Secretary

. Ifa card is chosen from a standard deck of cards, what is the probability of getting a five or a seven?
A. 4/52

B. 1/26
C. 8/52
D. 1/169
. Education as a subject of legislation figures in
A. Union list
B. State list

C. Concurrent list
D. residuary powers



18. Which of the following universities has adopted the meta university concept ?

Aasam University
Delhi University
Hyderabad University
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Pondichary University

19. In a thesis, figures and tables are included in
A. The appendix
B. A separate chapter
C. The concluding chapter
D. The text itself

20. In certain coding method, the word QUESTION is encoded as DOMESTIC. In this coding, what is
the code word for the word RESPONSE?
A. OMESUCEM
B. OMESICSM
C. OMESICEM
D. OMESISCM
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